no. 15 -1006-0|

Boston Whaker Sur Top Pi* 52-5749-00 nstallation Diagram e S e
'ﬁ)r l\’f)/!5’ SUF’@/‘ 5p®rt) Syper Sforr L—wl/ SPor.T, $ G.LS Mode (s L Inc.

13' boat hinge Tocation 15" boat hinge Tocation a
= ‘ ' Rockland, Mass. 02370

— Hinge, secure with 10-32 SCALE [ DATE | DRAWN CJ‘K'D APP'D

¥ @\?/ é flat head machine screws — /1/53 DB Vy 274,

g ‘ and well-nuts. See (H)
e and also Well-nut detail.
]
: 5
C~inb'rd edge of gun'

Eyestrap location for 13' boat,
use %"x8-32 round head self-
tapping machine screw and 1/8"
drill bit. For 15' boat see (D)

H

I
% 0 15' boat only! Fasten in

same manner .as 13' boat. ¢‘

—= 4 b

/ i
. / ¢
17 A - ; Py
= /) N
/ ¢
/
Well-nut detail - - NN Y \\_ >
n / . Eyestrap, %"x#8-32 round
" " 13: boat = 435", 3£‘/5’* GLS /"/Oi/e/" head self-tapping machine
N Mane 1 taee 15 boat = 48 screw. Use 1/8" drill bit.
mgzggngvgzr;wigsﬂ;hten 13' boat = 92L" '
. .. = 923
(Fequires many turns). - 15' boat = 97" >
Parts List
Point 0 52-5749-00 Sun Top with boot.
Includes: {4) eyestraps
(8) %"x#8-32 self-tapping machine screws.
(2) hinges
(4) #10-32 well nuts _
Shape of Well-nut (4) 3/4"x#10-32 flat head machine screws.
after tightening




